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2y 0.81% (+0.8bp)
10y 1.58% (+1.4bp)

30y 223% (+0.3bp)
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A0l 101% (+6.3bp)
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DOW30 18400.88 (-0.29%)
NASDAQ 5213.22 (-0.19%)
S&P500 2170.95 (-0.24%)

NIKKEI225  16887.40 (+0.97%)

SHANGHAI 308549 (+0.35%)

FTSE100 6781.51 (-0.58%)

DAX30 10592.69 (-0.61%)

CAC40 4438.22 (-0.43%)
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3y 1308% (+2.5bp)

Sy 1354% (+4.4bp)

10y 1478%  (+2.9bp)

CcDh 1.340%  (Obp)
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3y -26bp  (-0.5bp)
Sy -62bp  (-2.4bp)

10y -12.8bp  (-0.9bp)
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1Y 13025% (+1.00bp)
2Y 12825% (+1.50bp)
3y 12825%  (+2.00bp)
5Y  1.2925%  (+2.00bp)
7Y  13050%  (+2.00bp)

10Y 1.3500% (+2.00bp)

12Y  -2.00 (+0.50bp)
2*3Y 000 (+0.50bp)
2*5Y 100 (+0.50bp)
3*5y 100 (Obp)

5¥7Y 125  (Obp)
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5*10Y 575 (Obp)

*CRS = 2|

1Y  1.1450% (Obp)
2Y 1.1000% (Obp)
3Y 1.0850% (-0.5bp)
5Y 1.0450%  (-1.0bp)
7Y 1.0150% (-1.0bp)

10y 1.0150% (-1.0bp)
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